
   SubtraCt two digit numbers and match with the correct  answer 

.answeanswerAnswer. 
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John has an orange tree in his baCkyard. He had 94 oranges on that tree. He used 48 oranges for orange juice. How 

many oranges are left on the tree? 
 
 

 

Ben works out 65 – 20 and records it on her place value chart. Do you agree with her answer? 
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There are 20 marbles in eaCh jar. 

How many marbles are there altogether? Write your answer 

in numerals and words. 
 
 
 
 
 

    
    
    
    

90 - 19 
39 88 - 39 58 

82 - 58 78 59 - 50 44 

62 - 41 24 74 - 16 49 

78 - 39 21 90 - 41 9 

99 - 21 71 
66 - 22 

49 



    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
    
     

  

Challenge: 
 
Now create your own true or false bar model and equations and see if your 
family can work out which ones are true or false.  

Use the following numbers: 63 95 32 


